
 
                4- Number of outcomes in the sample space for the children gender (B for boy and G for girl) in   

                     a family with three children is 

 
 
 
 



 

 
                             A. Impossible events 

 
 

             The table below shows the number of the students in the classroom who studies Biology or Physics  

              at King Abdul-Aziz University. Answer the following two questions (10, 11) 

 
 
 

 



 
      A.   9∁4 + 5∁3 
       B.   9∁4 ÷ 5∁3 
       C.   14∁7  
       D.   9∁4 × 5∁3. 
 
 

 



 


